M:thin English Brain Teasers level 4 #3

What time is missing in this sequence ?
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puzzie2 puzzle3
What is the missing number in Which number is needed
the following pattern ? to complete this box ?
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2 |7 910 6 | 3 8 | 1

415 |18 719 51 4
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M:thin English Brain Teasers level 4 #3

Answer to brain teasers

puzzle1: 1:11
8:58 - 5:35=3:23, 5:35-3:23=2:12 and so on.

puzzle2: 8
Multiply the left and right cell in the 1st row to get the digits in the

middle (E x 5 =25, or 2 E).

puzzle 3 : 92
Starting with 16 and 23, each next number is the next

multiple of 16 and 23.

puzzle4: 2
Both the 2 top digits and bottom digits in each square add up to 9.
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